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B H,0>0H"
C ROH=»RO™
D NH, >NH;

Q:72
Topic Name: Chemistry-Section A

ItemCode:1872

2leypeiy o] Aeneslelssyi wuidz «i12 w104l ulsusl Us] sul vis g3
Question: H&e 1] & 215 2

A crosA[Els WS, B0
B croyA[R[2s Astsl9s18S, Hy0™
C KMnO,/HCL H;O"

D Cco/HCL [A%n AlCk

Q:73
Topic Name:Chemistry-Section A



ItemCode:1873
o120 w104 WAL Hu ofluey,

/ () Hg(OAch 120,
(i) NaBHy

Question: 18

Q:74
Topic Name:Chemistry-Section A

ItemCode:1874
Sellyatale salle {ldeiiniel] 52 s ~cH; el deefui Hat [@endld ofluy
Question: 3" oIy d3l% w44l -

A CH,

i \NO,

Q:75
Topic Name:Chemistry-Section A

ItemCode:1875
o120 w1 il sl Ulsaus QAeles s 2 (U5 WS SISSHI 218 % dol S5 1Hi

2Uid[2d 5291,
CHO
COOH
Question: ©/
A LiAlH,
B KMnO,



Q:76
Topic Name: Chemistry-Section A

ItemCode:1876
i [y «lluosar «10e{] (s 204l
HCN

2 Z002%04 4 dialloget (1) 201ell,

CH CH 5 —0—CH;
azHl

Question: o
A CHj
CH3; —CH =C—-COCH
B CH;—CH=—C—CN
CH;
C OH
CH; —CH, — C— COOH
CH;
p CH;—CH=— C—CONH,

CH;

Q:77
Topic Name:Chemistry-Section A

ItemCode:1877
Question: P-E 1G85t UESLAISE 511655 HIR el AAiell 53 [l Wilg B 2

A Q [eeuawd] ulsus dil amulldl 8.

B 34 qldus Wuieell 218 wiHs 1 qldus 1HIeeld ud(ed s2alHi
GualaHi gy 8.

C o3 dal (gl RIS 15 Ulsaul s2aMi 2118 QU Ad] «{luer drs €121 2
&% o vilesd i ¢lcu B,

D . 2leUpel Ueslelod 5412185 dldds W1l 412 ulsul sadl «teil.

Q:78
Topic Name: Chemistry-Section A

ItemCode:1878

o2 20| ulsul Aelui Hadl 2ildy «lue ¢ 20ldl.
NO,

Sn/HCI % NaNO9 o {3—Naphthol C
HCI NaOH
Question:
’ O
©/ oH




Q:79
Topic Name:Chemistry-Section A

ItemCode:1879
Question: 112 10a Hiel] sl AR M Ualds 2l 2

A v ¥
CH3 —(CHa )y SOy Na ™

B CH;—(CHy)g—C00 Na¥t
¢ CH; k
CHg—(C‘szls—i\'—CHg Br—
CH;

D CH3(CH,);6 COO(CH, CH,0), CH,CH,OH

Q:80
Topic Name:Chemistry-Section A

ItemCode:1880
Question: 112 A10a el 520l gleu (G2 pilot Bof useigell (sl g -2l »

A [qz1u+-B,
B [q21[ds1-B,
C (qelf-1-B,
D (q21me-B,,

Q:81
Topic Name:Chemistry-Section B
ItemCode:1881 )
CNG W5 2\ Rled] dlse] ldelie odRl 8. %13 100 g CNG <1 208 g
sil[50e 18 dlSAHT AlHAIM 2418 AR CO, WA H,0 vieldl d26 €131

€ el g UHIRIM] GBI Gus L e8el tMAULe Belst Udl co, il weall
(ALHHD) .
Question: (el €l NG = (1]

Q:82
Topic Name:Chemistry-Section B
ItemCode:1882
tot ABHI. A decll cep 164801 HRIA B W B dedl dHIM 2B sa51U 221l A
8. %1 A dedlal (A, oiogell (565 Urell) €2 s2aMi w114, d) HAloet{]

Quesﬁomu{i@uﬁl dealopildlaB, 8. dlx o yeu

Q:83
Topic Name:Chemistry-Section B

ItemCode:1883

o112 211090 5],

wl2iloedl vl gui A woigsis asle oSl 8.

Question:
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Topic Name:Chemistry-Section B
ItemCode:1884

25 HLe9ef] 215 YIL{]l AAS (water body)Hi ddll edl. 2R da Asen o yleil
daeHiel e staalHi idl AR detl Gur wiRlle(l (s&1 u18s11 w1928,
el doret 36 ¢ ©. 91 A=l 100 OC GUR 2iddMi w1 AU o ilegsts]
wid[Rs G kJ mol"! Hi 2114l [A% 51l Yuils]
[A106 : 373 K 4 1 bar U2 WIGIL M2 Ay, 1 ypwy=41.1 kT mol :R=8.3117

-1
Question: K" .mol]

Q:85
Topic Name:Chemistry-Section B

ItemCode:1885
27°C 200 mL UIS{1Hi 2.0 g U121t B<f H1ER2 £01 60 kg mol! © d w{2LAAIM]
w2 ol 41 ¢laBl glo1 Alald (MRl 18l

Question: (GUAIL R = 0.083 L bar K™ mol ™)

Q:86
Topic Name:Chemistry-Section B
ItemCode: 1886
300 K 40% HI U [Aelest U] H, 24e 1, 4ol 8. 25 dldld8lell £6418] 24|

[agesd UsULHER AG® o H& Tmol™! 201El. [1%)5e11 YRU[5HI)
Question: (CUAPL R =831 TK! mol!: log 2 =0.3010. In10 =2.3. log 3 = 0.477)

Q:87
Topic Name:Chemistry-Section B

ItemCode:1887 B
wUq E- . =034V EC | =—0.14V
Cu~" /Cu Sn=" /Sn
208 K U2 U[sU1 HI2 [PLodt Yoo Gl 32812 Cu(s) + Sn?™ (0.001M) —
Cu?™ (0.01M) + Sn(s) . x x 107 kI mol ™! :s.

Question: 414 : F = 96500 C mol™'] cll x | Y& Q.

Q:88
Topic Name:Chemistry-Section B
ItemCode:1888
Gelus A 300 K ¥ (545231 2[5t 10 kI mol! Bed]l €215 8. U5l £l

k : )
ARlltR. —aCatalysed ) x @ o] Y&y [1%5etl YyRIlsui]
kT, Uncatalysed

ezl 6l 3. yd didisly 21qud ofd [521mi qul 9. #IUE R = 8.31 TK mol”

Question: ]

Q:89
Topic Name:Chemistry-Section B
ItemCode:1889
[Co(H,0)]* =il g uscl 211 18 2] (5ueetsil seglui ulsul sl

uldeisly «llum 210 8. dl t,, se151H1 56 A5t 3edl S92 B 2

Question:
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Topic Name:Chemistry-Section B

ItemCode:1890
81 g H,0 Geusl 5241 HI2 &8 elle (Heelsil < 102 mol «il A U5

Question: 8.



